EARAROBEEIERT — 2 N— IBISH —F 20135F9A23H (A) 12m{£E2H

m B—3# B #5%3mL (xwlw | lmEmml - |5 5) wom 8
[AE4£] 1% :250,000 ™ ~ 23#%:58,000” ~ 33%&:23,000” . 43%&:13,000 M 53 :8,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i 4 | BREA 1:32.2 1-1-1-1 | 37.7| - 1 484 | LUEZEAN (EH)
eSS R =t 54.0 5 Ly | FHEES
A2:Cherokee Run £ :Sugar Punch IEAH Stables & Pa
S 4 5 | S 1:32.7 4-4-3-4 | 37.7| — 4 467 | THERE (1£R)
oY 3| v-NITIY %53.0 @ 1/2) 1) AR
L:v—NFAY>F— B:T77oarlTFr— TE FE
_ _ 4 o4 | AER—E 1:32.8 2-2-2-3 [38.0| — 2 448 | IIIEZEEF (1E8)
3 6 R=—T<4X4& 56.0 (1/2) -5) LURET
X TAANAIN BIIVT 1 2IN—=7 J=HrTr—L
., s = RHE#EC : 34— — I (E8)
4 NEEIAE T 6 e 1(/%? 3-3-4-2 |37.8 3 <4+712) Ao
RiZFrE—HFT—IK B:R-Z-F5> HIMRE Yk
— R = HIE 234, —7-5- X — HENE (EE)
5l1]1|2=v2=97-2 B4 Bl 1(384)4 7-7-5-5 | 38.6 5 :1_133; m%%e "
R:xA1=Zdr7— BEANZTIPb J—=HrTp—L
- g 35, 66~ - KIEHE ()
6 4| TLFAR—1 # 10 36.0 1(345)1 6-6-6-6 | 39.3 6 (4_862) S "
L:7E— B:ey by BINET 7 — L
s s 4t 6 | ETPHE 1:35.3 5-5-7-7 | 39.5| — 7 493 | FEAEET (1£E)
71717 8> Fa)—RK—-A 56.0 @ (+2) | EHES .
A :Anabaa #&: 3 —3 HET7—L
® I —F—EBIERL
13=7r= 5,6,2,3,7,4,1
A== 5,6,2,3,7,4,1
Jol=5r= 5,6,3,2,1,4,7
40—+ — 5,2,6,3,1,4,7
[ N3
BB 5 100M 714K 3-5 120H B = 3-5 260M 3EHE 3-5-6 340M
8 B 5 100M 5-6 140H B H 5-3 260M K31 5-3-6 540M
3 1809 3-6 330M

ABICOVWTRDTEEERROODE. TR LIV,




